3 (Sem-1) STS

2017

STATISTICS
( General )

Full Marks : 60
Time : 3 hours
The figures 'in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions as
directed : 1x7=7

oS firt oA ot s fian

{a) Mailed questionnaire method cannot be
used when the informants are

(Fill in the blank)

PIRAR ORRT o AR IR R
o PR TR

(X1 51 =1 70)

(b) Mean deviation is least when measured -
' about median. - (State true or false)

- TR AR/ G ST Roem enbiRets 5 |
(371/wpre; o)
(c) What is relative frequency?
AR IR &2 |
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(d

(e)

{9

2. Answer the followmg questions :

(2)

Fisher’s index number is the of
Laspeyre’s and Paasche’s indices.
(Fill in the blank)

el W AW WE Sioed
AR | (1 31 @9 F0)
What is the relationship among mean,
median and mode of a symmetrical
distribution?

9B1 RS ITR sntﬂ A T Wred
STorbght ot 1 ~

Under what assumption would you use

Simpson’s —rd rule of integration?

R wfeyR %ﬁst-s TRYRE W fomorera
1 b srcmat 3R 2

Using ogive, we can determine a

particular measure of central tendency
namely (Fill in the blank)

Wﬁ@’amwﬁ@ﬁnﬁqﬁimﬂa aﬁﬁm
o fee IRT A, gyeey
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(@)

8A/334

Write down the differences between
classification and tabulation of data.

©_ ﬁ“",‘ﬂﬁ TN ES I
NPT forn

( Continued )

2X4=8

(b)

(c)

(d

(3)

Prove that the sum of deviations of a set
of observations from meari is zero.

AN T @ TR *91 5699 TWQAFT S@IQ
T *FT |

If. f(x) =1 -x(1-2x)(1 -3x), then find thé
value of A3 fx).
W flx) =

What are the limitations of index
number?

5% TRAW et [ 2

3. Answer any three of the following questions :
5x3=15

were fia R e Fofr e Teg forar

(@)

(b)

8A/334

Describe the different measures of
central tendency. Mention the merits
and demerits of arithmetic mean.

@8 o Rid WaRe 3 f 1 e
I B9 SF FIORIE BTEY 79 1

Define index numbers. Describe the
price relative method of construction of

an index number. .
oI qm-'as sﬁm TGS
T oTBt 3 <4 |

h -x(1-2%(1-3x) =, B .
Y A3 fxR W Ry 10
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(4)

() (i) Show that the standard deviation is
independent of change of origin but

not of scale. 3 '

st @ TP oA [ERE afRed
ee &M @ Re crm wrR
ARG @oFe ATt |

(i) Calculate the median from the

following data : 2

o] OUR °[{1 WAl Ref 7
57, 58, 61, 42, 38, 65, 72, 66
(d) "Derive Newton’s forward interpolation

formula. 5

REB e e ! ﬁef%t I
(e) Write short notes on : 3+2=5
12 CBr o

fi] Questionnaire and schedule

NG T S
(&} Coefficient of variation
R ganes
4. Answer any three questions : 10x3=30
R coen o1 e o ot :

{a) () What do you mean by cumulative
frequency distribution? What are

its different types? 1+1=2
TR AR T P B @2 "W
R R R
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(5)

(i) Define moments. Show that
Rg =ps -3usni +2uf3
in usual symbols. 5

IFT ST Ford | ] IR ARKI
ST |
B3 =3 - 3uouq +2ui3

(i) Which measure is considered to
be the best measure of central
tendency? How will you calculate
median of a grouped frequency
distribution? 1+2=3
@I 2 wibiRetE BegR qoh B2
cft Refde IRQEEl Ioq GBR T
R P siR31?

(i) .Find the value of A" (e®*?). 2
A" (e PR W fAdfa 7

(i) Find the (n+l)th difference of a
polynomial of degree n. 4

n TEIE IH HBE (n+1SN TN
- Bferean |

| (i) Given f(0)=1, f{)+f(2)=10 and

fB)+ f@+ f(5)=65. Find f(4). 4
i wWR f0) =1, f(1)+f@)=10 =F
fR+f@+fB)=65  féR A
Sferean

( Turn Over)



(6)

(c) (i) Write short notes on time reversal
test and factor reversal test. Name
the formula which satisfies both
the tests. 4+1=5
T TRFAN A WE B S
“RFR @RS 5y G orr 1 gDy«
1 41 aebr T foran o

(@) With the help of the following data,
show that Fisher’s index number is

ideal : 5
©oIq YR S (Sl ¥ RO HRE
o SIS
Commodity Base Year Current Year
o RRew LR

Price |Quantity| Price |Quantity
b = b *fm

A 15 8 25 12
B 10 7 12 | 15
c 8 5 17| 7
D 20 16 23 8

(d) (i) Estimate u, from the following
table : .2

ST el SIPRITIR oR/T 1, WIFEH I
x : 1 2 3 4
uy @ 7 - 13 21
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(e}

8A/334

(7))

(i) State Lagrange’s interpolation
»- formula. With the help of this
formula, prove that 4

u; =uz —0-3(ug —u_3)+0-2(u_3 —u_g)
TGN SR Ao B W @2
R TS A T @

U =uz -0-3(ug ~u_3)+0-2(u_3 -u_g)

(iii) Prepare a divided difference table

for the following data and then find
the value of f(6). 4

Toq ©YR Ml 9 | W@ el
ATS FI HF ©ORF *[/l f(6R T Sfrea |

x : 3 7 9 10
flx) : 168 120 72 63

(i) What is numerical integration?
Obtain the general quadrature

formula. 1+4=5
AN e 2 RINF ST
YR INIT T Sferea

(@) If u, =a+bx+cx?, show that

fuxdx = 2U2 +%(u° —2U2 +U4) 3

MW u, —a+bx+ox? =W, (@ @S
A

Lsuxdx =2U2 +%(uo —ZU2 +U4)
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(8)

(iii) Prove that for any two values
(AM) (HM) = (GM)? o

R A o1 IRV A 209 ¥ T
(AM) (HM) =(GM)®

(0 () By using Newton-Raphson method,
find the root of x2-5x+2=0
(correct up to three decimal places). 5
fepa-qwo R g IR
x2-5x+2=0/ T SRea (mfiwe
R sz=mtencs) |

(i) Write down the Simpson’s 3th .

rule and find the value of the
following integration by numerical
‘integration : 1+4=5

J"’1+x
foererm 3 e et foran o RO
SR A AR SRR
Sferear :

k1+x

% d
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